
Sorry Seems To Be The Hardest Word
Elton John

Blue Moves - 1976
Words & Music by Elton John & Bernie Taupin
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A  Intro

Gm7 Gm6 Emaj7 Gm Cm Cm Am7(5) D7
Partition largement inspirée de la version originale, pour une interpretation solo piano voix
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let ring

let ring

3 3 3 3

B Couplet 1
Gm Gm Cm7 Cm7 F F B Am7(5) D7

WhatdoI'vegottodo tomakeyoulove me WhatdoIavegottodo tomakeyoucare
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let ring
Transition 1

let ring

Gm Gm Cm7 Cm7 F F B Am7(5) D7

Whatdo I do whenlightningstrikesme And Iwake tofind thatyou'renot there
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Transition 2

let ring



2/5

C
ha

nt
Pi

an
o

3 3
Gm Gm Cm7 Cm7 F F B Am7(5) D7

WhatdoI've got todo- tomake youwant me WhatdoI'vegottodo tobe heard
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let ring
Transition 3

let ring

Gm Gm Cm7 Cm7 F F B B Am

Whatdo I say whenits all o- ver Sor-ry seems to be thehar- destword
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let ring

let ring

C Refrain 1
E/G D/F B/F C7/E E D Gm D7/A B

It'ssad Sosad It's asad sad si- t- u- a-tion Andit'sget-ting more andmore ab-surd
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E/G D/F B/F C7/E E E Cm D

It'ssad Sosad Whycan'twe talk ito- ver Al-waysseems tome That Sor-ry seems tobe thehar- dest
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let ring

let ring

D Solo
Gm Gm Cm Cm7 F F B B

word
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let ring

let ring

Gm Gm Cm Cm F F B B
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let ring

let ring

E Refrain 2
E/G D/F B/F C7/E E D Gm D7/A B

It'ssad Sosad It's asad sad si- t- u- a-tion Andit'sget-ting more andmore ab-surd
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E/G D/F B/F C7/E E E

It'ssad Sosad Whycan'twe talk ito- ver Al-waysseems tome That Sor-ry seems tobe thehar- dest
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let ring

let ring

3 3 3 3

F Couplet 2
Gm Gm Cm7 Cm7 F F B Am7(5) D7

word WhatdoI'vegottodo to makeyou loveme WhatdoI'vegottodo tobe heard
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Gm Gm Cm7 Cm7 Am7(5) D7 Gm Cm

Whatdo I do whenlightningstrikesme WhatdoI've got todo WhatdoI've got to do
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G  Outro
Am7(5) D7 Gm Gm Gm7 Gm6 Emaj7 Gm

Sor-ry seems tobe thehar- dest word
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let ring

let ring

Cm D7 D7/A Gm/B Gm
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let ring

let ring


